| [ob/GeV?]

d t,had
d ’
|p0ut

=
<
[y

=
o
R

t,ha
pT

Ratio to ATLAS

[EEY

0.5

13000 GeV pp

_| I | I I T | T —
t
= POOUF; (ATLAS semileptonic ttbar) =
- m ATLAS .
— —A— Pythia 6.428 370 —
~  --8-- Pythia 6.428 391 -
- Pythia 6.428 default ]
— —— Pythia 8.308 default =
:l | | | | | | | | | I:
:| ' I T [ T T T | T ,:
o ., ]
— A/r A _
M _________________________________ D
| 1 1 1 | 1 1 1 | 1 1
0 200th ; had 400
.ha had .
|pout | [GeV], P, in [60,120] [GeV]

Rivet 3.1.10, = 2.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


